Ratio

10—15_ ..................................
107
: . T

I N I I P
-4 -2 0 2 4 6 8 10

| pull of qoverp parameter

107!

1072

107

10

1

Ratio

0.8

0.6
hooed a : : R
-10-8 6 -4 -2 0 2 4 6 8 10

= B e ey |

[ pull of @parameter |

Ratio

res

107}

1072

1073

. e -0.0
s onslam _080 q?)

10

L.

=

0.9
0.8
0.7,

P

0-8 6-4-20 2 4 6 8§10

[ pull of dxy parameter

Ratio

107}

1072

10™

L.

iy

0.9
0.8

07

P

086 -4-20 2 4 6 810

[ pull of 6 parameter |

107}

1072

10*3 -

10

1.05

Ratio

[y
RALLILARRS

0.95
0.9

0864 20 2 4 6 810

|
=

[ pull of dz parameter

107}

1072

10™

1.05

Ratio

0.95
0.9

0-8 6 -4 20 2 4 6 8§10

=



	Contents
	Page 1


